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=) UPCOMING ONLINE BATCHES

06 July 2022

BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

06 July 2022

BANK ONLINE LIVE CLASS

ENGLISH MEDIUM

06 July 2022

SSC ONLINE LIVE CLASS

ENGLISH & BENGALI
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July 2022

13 July 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

BILINGUAL

13 July 2022

BANK ONLINE LIVE CLASS

ENGLISH & BENGALI

20 July 2022

01:00 PM to 03:00 PM

BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

BILINGUAL

27 July 2022

BANK ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

BILINGUAL

27 July 2022

BANK ONLINE LIVE CLASS

ENGLISH & BENGALI
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o debasish chakraborty 1 day ago
Homework :

Row 2 : RMNOLD
R¥W 1 : QMSZP
NORTH-ROLQS ..

Read more

oy &R REPLY

shubhangi mishra 22 hours

H.w ans.

Row-2 RNOLD

ROW-1 OMSZP

North facing - ROLQS..

Read more

gy &R REPLY

Mabanita De 1 day :
H.W-Row 2-RNOLD,Row 1-QMSZP.North-ROLOS, south-MZPND.thank you ma'am

oy &R REPLY

Arkajulan saha 1 day ago (edited)
OMSZP
RNOLD

North-ROLQS
South-MZPND .

Read more

oy &R REPLY


http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 AM/ “

<Y IR ¢l IR Uferal rytd uferT 1 3R

ufed 2 A Udi® Ufed UR Ui Safaaal & 914 96 ¢ |

Ui safad SO @t 3 374 § 3 XY &f&rur @l
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39 Afdd &

|

Ten persons sit in two parallel rows i.e. row 1
and row 2 with five persons sitting on each row.
Five persons face north and rest face south.
Each person sitting in row 1 sits exactly
opposite to each personinrow 2. Row 1 isin
south direction of row 2. Z sits third to the right
of Q. Z sits opposite to the person who sits
immediate right of O. O faces north. D sits
opposite to the one who sits third to the left of
M. Z face the opposite direction to Q. Only
three persons sit between Q and P who sits in
row 1. L is an immediate neighbour of both O
and D. S sits second to the right of the person
who sits opposite to D. R sits immediate right of
N. R faces the same direction as O. S and L face
the same direction as Q.
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Ten persons sit in two parallel rows i.e. row 1 and
row 2 with five persons sitting on each row. Five
persons face north and rest face south. Each
person sitting in row 1 sits exactly opposite to
each person in row 2. Row 1 is in south direction
of row 2. Z sits third to the right of Q. Z sits
opposite to the person who sits immediate right
of O. O faces north. D sits opposite to the one
who sits third to the left of M. Z face the opposite
direction to Q. Only three persons sit between Q
and P who sits in row 1. L is an immediate
neighbour of both O and D. S sits second to the
right of the person who sits opposite to D. R sits
immediate right of N. R faces the same direction
as O. S and L face the same direction as Q.



http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 AM/ “

How many persons sit between L and R?
A. Two B. Three C. One D. None E. None
of these

If R is related to Q, N is related to M then
i nthe same manner Lisrelatedto _ ?
A.ZB.PC. OD.DE. None of these

Who sits immediate right of the one who
sits oppositeto S? A.LB.RC.D D. NE.
None of these
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Which of the following statements i s not true?
A. S face the same direction as R B. R sits at the
end of the row C. D sits opposite to P D. O sits
immediate right of L E. All are true

) Which of the following is true regarding M? A.
M sits at the end of row B. M sits opposite to R C.
M sits immediate left of S D. Both a) and c) E.
None is true
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Z{}[Bq'%[- PQ,RS,TUV,W, X,_Gﬁ? YU Ten persons-P,Q, R, S, T, U, V, W, X, and Y are living in
HfSTel SHRG . Wm:ﬁ%ﬁ the five-storey building with floors numbered 1 to 5
5TP T, .E-"ai Lo} J Tgﬁ ¥ from bottom to the top but not necessarily in the same

O U 9§ ad &) 3R e U ol e §t order. Each floor has two flats labeled as flat A and flat
S eud 3

FUH Add TI'CIT%I TP Uﬁ?:.’ffifr B from west to e?st respectively. No two people live in
aﬁnqﬁgﬁ% PS @aﬂﬁﬁ[wm%’ the same flat. P lives two floors above S, where both of
VeI g TP G UPR B FAc HIgd ol s TP them are living in the same type of flat. S lives on an
f&wﬁwaﬁﬁﬁmwm% U,s ) odd number floor. U lives north-east of S but does not
3iR- ﬁm%ﬁmwmwﬁm live on the even-number floor. W lives immediate
RS YgATg I W, R %mwiﬁfﬁ?ﬁ north-east flat of R. V lives south-east of R. The number
@ﬁlﬁmuﬁaﬁ@glaﬁ;ﬁ%va; of floors between R and V is the same as the number of

floors between U and X. Neither X nor V lives in the
same type of flat. The sum of the floor number of R and
V is one less than the floor number of Q. The difference
between the floor number of U and R is one more than
the floor number of Y. The floor number of the one who
lives immediately above Y is thrice of the floor number
of T.
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Ten persons-P,Q, R, S, T,U,V, W, X, and Y are living in
the five-storey building with floors numbered 1 to 5
from bottom to the top but not necessarily in the same
order. Each floor has two flats labeled as flat A and flat
B from west to east respectively. No two people live in
the same flat. P lives two floors above S, where both of
them are living in the same type of flat. S lives on an
odd number floor. U lives north-east of S but does not
live on the even-number floor. W lives immediate
north-east flat of R. V lives south-east of R. The number
of floors between R and V is the same as the number of
floors between U and X. Neither X nor V lives in the
same type of flat. The sum of the floor number of R and
V is one less than the floor number of Q. The difference
between the floor number of U and R is one more than
the floor number of Y. The floor number of the one who
lives immediately above Y is thrice of the floor number
of T.
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- Who among the following person lives north of

X? a) V b) The one who lives west of W ¢) T d)
The one who lives south-east of Y e) P

As many floors above U is the same as the
number of floors below _ ?a)Sb) Xc)Qd) The
one who lives immediately above V e) The one
who lives east of T

& B B ]
£ & s ]
o B v ]
LI .

What is the sum of the floor number of P and W?
a)6b)ac)8d)5e)7
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I L L

Who among the following persons live above Q?
I. The one who lives on 5th floor

Il.The one who lives north-east of X

lI. R

AV

a) Onlylandlll

b) Only lll and IV

c)Onlylandll

d) Only Il and IV

e) None of these

What is the direction of R with respect to Y? a) East b)
North-west c) West d) South-east e) North-east
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Eight persons viz. A, B, C, D, E, F, G and H were born on eight consecutive
years starting from 2003 to 2010, but not necessarily in the same order. The
consecutive alphabetically named persons don’t born consecutively.

G was born in a leap year. Only four persons were born between G and D
Who was born immediately before F. The number of persons born before F is
the same as the number of persons born after A. Only two persons were

born between A and B.

313 AfRT YT A, B, C, D, E, F, G 3N H BT 57 2003 I 2010 dF TR TS I9I
H g3 YT, Aifep Tt 5l b 531 64 | 811 AR quiigshH | frd safer

S U oty 9U A 31T UT | G 3R D & 19 ad IR AfRI USTgE A, SN F A
St Ugd U1 5T & | F & Ug UST §U ATRIT! Bl HSIT A & d1G UG g€ afrTal
DI E-IT S GHM 1 A R B ol Sl AfFI UgIgu a1


http://www.mahendras.org/

SBI CLERK 2022 / /mEmat 11:30 AM/ 0

Eight persons viz. A, B,C,D,E, F, G
and H were born on eight
consecutive years starting from
2003 to 2010, but not necessarily
in the same order. The consecutive
alphabetically named persons
don’t born consecutively.

G was born in a leap year. Only
four persons were born between G
and D Who was born immediately
before F. The number of persons
born before F is the same as the
number of persons born after A.
Only two persons were born
between A and B.
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If all the persons were born in alphabet"
order, then how many persons remain
unchanged in their positions?

gfg g+t saferral &1 &= quiigspH ¥ gan g, di foraa
i 30 IH W artrhal%h T8 87

A.One

B.Two

C.Three

D.More than three
E.None

Who among the following person was born

two persons before G? fFafaf@aAAHTG A
uaﬁa‘rw%u‘rwwgan YT?

B B

C.F

D.No such person
E.None of these
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Who among the foIIowin% person was
born in 2005? fAuferRad H ¥ fw sufedd &
S 2005 T §3IT UT?

A.E

B.F
C.C
D.H
E.Cannot be determined

How many persons were born between B
and C?
B 3k C & o9 fral afay Uar gu 47

A.One

B.Two
C.Three
D.More than three
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Eight persons are working in a company with different grade position such as CEO, MD, GM,
DGM, Senior Manager, Manager, Assistant Manager and Clerk. Their positions are given in
descending order, such as CEO as the highest position and Clerk as the lowest position. B is
a manager. Two persons are hold a position between A and B. More than four person are
hold a position between C and H. As many person senior to C is same as that of junior to D
who is junior to H. E is junior to F and senior to G. G is not clerk
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Eight persons are working in a company
with different grade position such as
CEO, MD, GM, DGM, Senior Manager,
Manager, Assistant Manager and Clerk.
Their positions are given in descending
order, such as CEO as the highest
position and Clerk as the lowest
position. B is a manager. Two persons
are hold a position between A and B.
More than four person are hold a
position between C and H. As many
person senior to C is same as that of
junior to D who is junior to H. E is junior
to F and senior to G.G is not clerk.
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an¥ persons have hlgher grade position than C?

Ifeddl BT IS TS 3 22

a) Two

b) Four

c) Three

d) One

e) C holds the highest position

Who is General manager?
HETUSY® B 872

a) C

b) F

c)G

d)D

e)A
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What is the grade position of D?

D B Us fRUfT T 82

a) Senior Manager

b) Clerk SBI

c) Assistant Manager

d) Cannot be determined
e) None of these

How many persons are hold a position between
Band A?

B 3MX A & 9 H fpa aufad 98 82

a) One

b) Four

c) Three

d) Two

e) None of the above
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625 427 189 258 469

What is the sum of the 3rd digit of second number from left and 2nd dlﬁlt of third

numberfromrlght7aﬁﬁ§ﬂﬁm%?ﬂ'\q§'w3ﬁ?3ﬁﬁ W%Q’\‘ﬁ'
3 BT TN T 82
(a) 10 (b) 15 (c) 14 (d) 12 (e) None of these

What is the product of 3rd digit of 2nd lowest number and 1st digit of 2nd highest number?

wmmm%mwmwmaﬁw%mwm
UG FT 82

(a) 32 (b) 72 (c) 24 (d) 36 (e) None of these
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625 427 189 258 469

If 2 is subtracted from each number then how many numbers thus formed are odd numbers?

afe Y Ser # W 2 veT faar oY af 39 YR o+ arell fha-i d@id faus

HWTT B2
(a) One (b) Two (c) Three (d) More than three (e) None

If the position of first and third digits of each of the numbers are interchanged, then which

among the following is the highest number?qﬁmm%q@ﬁ Gﬁ??ﬂ'\‘ﬁ 3B B
R &1 AU § ged fear o, ot fFaferfad & 9 999 93 @ &9 @ 872

(a) 258 (b) 469 (c) 189 (d) 427 (e) 625
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Eight persons F, G, P, R, M, N, Vand T live in
eight different floors. Lowermost floor is
numbered 1, above the floor is numbered 2, and
so on till the topmost floor is numbered as 8.
Each of them is in a different profession. Their
professions are Lawyer, Teacher, IAS, Student,
Doctor, Accountant, Commissioner and Manager.
All the above information is not necessarily in
the same order.M lives on even numbered floor.
The one who is an Accountant lives on the
second floor. Two persons live between R and
the one who is a student. R lives on even
numbered floor but above M. Three persons live
between G and the one who is an IAS. M is not
an accountant. As many persons living above the
one who is a doctor is same as below the one
who is a student. Only one person lives between
T and the one who is a teacher. The one who is a
lawyer lives immediately below N. As many
persons living below N is same as above the one
who is a teacher. The one who is a commissioner
lives immediately above M. Neither Fnor Vis a
lawyer. F lives above V.

3TS ATHRIF, G, P, R, M, N, V 3R T TS S-S
HRTE § ved £ 1 TR e 6l $1 6@ 1 €,
AT & SR BT TS 2 3, 3R TH T TTH KW
HiSTer ) H&T 8 81 SH I TS U ST U H B |

|
>
:
i
5
1

it SHI HFHH B

M TH =T dTelt #ivTel UR ¥gdl 8 | 98 afad Sl U
AEIPR 3, g HiST R IEAT3 I R IR TH BHAD
a4 ¢l Afed ¥8d &1 R 96 AT dreil HfoTd IR Igdr g
AfpAI M B FUWIZAT 2| G 3R TH 1As AT & A
?ﬂqwf%rwﬁ%mmqﬁélﬁmﬁw%
SR

19
4,
:
¥4
£
ERE:
gki
e
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Eight persons F, G, P, R, M, N, V and T live in eight
different floors. Lowermost floor is numbered 1, above the
floor is numbered 2, and so on till the topmost floor is
numbered as 8. Each of them is in a different profession.
Their professions are Lawyer, Teacher, IAS, Student,
Doctor, Accountant, Commissioner and Manager. All the
above information is not necessarily in the same order.

M lives on even numbered floor. The one who is an
Accountant lives on the second floor. Two persons live
between R and the one who is a student. R lives on even
numbered floor but above M. Three persons live between G
and the one who is an IAS. M is not an accountant. As
many persons living above the one who is a doctor is same
as below the one who is a student. Only one person lives
between T and the one who is a teacher. The one who is a
lawyer lives immediately below N. As many persons living
below N is same as above the one who is a teacher. The
one who is a commissioner lives immediately above

M. Neither F nor V is a lawyer. F lives above V.
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Who among the following person is a 8]G [Manager |
student?

s @ [R_[oecar
frafafad 9 3 o9 8= 82
A) F
B) N 7 [V Aot
QP L

D)V
E) None of these
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>

Which of the following statement is true?
Faffea i S P T HYTIa 82

A) The one who is a doctor lives below M

B) Two persons live between F and the one who is a doctor

C) As many persons live above G is same as below P

D) More than three persons live between P and the one who is a
commissioner

E) Both (c) and (d)

S L
TR oo

7 [ Accoumant
TP JGwer
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How many persons live between F and the one who is an IAS?

F 3R U IAS Afad & aed fodq aafad Igd 872 o

A) One

B) Two 6 IR [oocor

C) Three
4 - IAS

D) Four el

E) None of these 2 [N | Accountant |
TP e



http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 AM/ ﬂ

If G is related to commissioner, T is related to Accountant, in the
same way, M is related to which of_the follow

%mg’}mﬁa% T AQHR | H&iUd 8, %WM Fufafaad

A) IAS

B) Teacher

C) Manager

E) None of these 6 [R|Doctor |

Commissioner

B
[P (e
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Who among the following person lives immediately below the one who is
a doctor?

° Ao 7

A'E')‘HMR"@" 7w ale 2 cu CA N L
B) R 6 [% [oocor
C)T
D) V v

uden

E) None of these 2 [N | Accountant
TP [Gwer
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Bne morning after sunrise, Suresh was standing facing a pol
The shadow of the pole fell exactly to his right. To which

direction was he facing?

s qaied & 91 U T & ATHA GST 4TI @™ Bl
m%mar%ﬁ?’usﬁlmwm%mﬁaﬁ?m?

1

A) East B) West

) South D) Data is inadequate

E) NONE OF THESE
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Statement:

Only a few chemicals are pesticides.
Some pesticides are medicines.
Some medicines are Computer

Conclusion:
I. All chemicals can never be medicines.
Il. At least some chemicals are Computer.
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Statements:
Only a few Boxes are Book
All Books are Pens

Conclusions:
I. Some Boxes are Pens
Il. All Pen can never be Boxes


http://www.mahendras.org/

SBI CLER.I¥£22 /A /@A at 11:30 AM/ “

Read the following information carefully and answer the questions given below.

Eight persons I, J, K, L, M, N, O and P are sitting around a circular table. Two
of them facing outwards and rest are facing towards the centre but not
necessary in the same order.

O sits third to the left of M. The immediate neighbours L are facing outwards.
K sits second to the right of J and is facing outwards. N sits to the immediate
right of I and sits fourth to the left of J. P, who is an immediate neighbour of J,
sits second to the left of 1. L is an immediate neighbour of J and K. M is an

immediate neighbour of K.

frrafefea ser) #) erFyde ue R R feu e usi & IR |

mw@rl,J,K,L,M,N,OGﬁ?PWﬁﬁW ir@&ﬂ'\fa%%'la‘—lﬁ'@ra’rwaﬁ&ﬁv

3@ B SR Y H5 B 3R IHW 3 CHEGIERE KT

0, M & T T R RIF IR 901 5| Mdpeaq usRi} L 1 4% 916 91 3R 8 |KJ$$
I

wmwam%eﬁ?wﬁaﬁ? gl %mmﬁm MR IF I
T@%éﬂiwwh |LJjaﬁ'\rK$rﬁmn
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Read the following information carefully and answer
the questions given below.

Eight persons I, J, K, L, M, N, O and P are sitting
around a circular table. Two of them facing
outwards and rest are facing towards the
centre but not necessary in the same order.

O sits third to the left of M. The immediate
neighbours L are facing outwards. K sits second
to the right of J and is facing outwards. N sits
to the immediate right of I and sits fourth to
the left of J. P, who is an immediate neighbour
of J, sits second to the left of I. L is an
immediate neighbour of J and K. M is an
immediate neighbour of K.



http://www.mahendras.org/

SBI CLERK 2022 / /Emat 11:30 AM/ “

Who among t he (o Io wing sits third to the right of N?
99 'q'lﬁ@r?ﬂ#{quuﬁ'a

a)P
b)O
c)L
d) K
e)M

How many persons are sitting between M and J, when counted
in anticlockwise direction from M?

M 3 T &= # M9 R M 3R 1 & 9 foa+ safdd 98 872

a) Three

b) Four

c) Five

d) Two

e) One
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Who among the following is an immediate neighbour of both P
and I?
fFrafeRea 9 o4 P 3R I giHi &1 Adean usKit 872
a)N
b) K
c)L
d) O
e)l
Four of the following five are alike in a certain way and hence form a group. Which one
of the foIIowmg that does not belong to the roup?
ue (Hif3a ot @ THH § 3iX Safoe U 99 9914 8| Fufifea & 9
ﬁqmwﬁwf‘uaqé’r%
a) PL
b) KN
c) IM
d) JK
e) ON
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